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Part-A
WIT-A
( Multiple Choice Type Questions )

( Sgfweda v )
Question Nos. 1 to 30 are Multiple Choice Type. Each question has four

options. Select the correct option and write it in the Answer Sheet. Each

question carries 1 mark. 1x30=30

T HE 1 9 soamagﬁamﬂam%mm%mﬁw%mﬁﬁw

TR IR Yt d o6 | T W 1 37 @ R 1 x 30 = 30

1.  Which type of economy is Indian Economy ? -
(A) Capitalist Economy
(B) Market Economy
(C) Centrally Planned Economy

(D) Mixed Economy -
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uuaﬁuaqﬁaaun%amaﬁmszmn%?
(A)  qSETE areferawey

(B) SNIR arefougzen

(€)  Fipa g sreforare

(D) fifim srfeen
Which of the following is an e€xample of resource ?
(A) Tools . (B) Machine

(C) skill (D)  All of these

ﬁmﬁﬁgaﬁamwwmwaﬁa—m%?

(A) 3w | (B) wyfA
(C) whwret D) 7 & wh
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3.  Inwhich type of cconomy are economic activitics organised by the
Government or central authority ?
(A) Capitalist Economy

(B) Market Economy

(C)  Centrally Planned Economy

(D) Mixed Economy

%amﬁaﬁaawﬁmﬁ&%mmﬁwm‘mmw

wmm%?‘

(A) Gl sreleraren

(B) =M Srloraea

© g A s

(D) Tald@ ardegaen
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4. .Which of the following curves is negatively sloped ?
(A)  Supply curve (B) Budget Iirjc
(f:} Total utility _ (D)  Total cost curve
mﬁﬁ%wﬁmmaﬁ% >
® B T
(C) o sw@far (D) % s e
S. When the consumer’s expenditure due to change in price of a good

remains-unchanged, then what will be the demand for that good ?

(A)  Elastic (B)  Zero elastic

(C) - Unitary elastic (D)  Inelastic
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) win = B 7
(A) W (B) ¥ TR
(C)  TH1 TR (D) SR |

If the equation of budget line for two goods X and Yis 2x + 3y = 20,

then what will be the slope of the budget line ?
(A) 06 (B) 10
(C) 333 (D) 15

Q aggai X e Yﬁ%‘QW?@WHﬁWEx+3y=QO%ﬁW?@I

& T T Bft 2
(A) 06 . (B 10
"(C) . 333 D) 15
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7. Which of the following is a factor affecting the demand for a gooqd ‘l‘
|

(A) chlino]ogical progress \

(B) Consumer’s iﬁcomc

(C) Exploration of resources |

(D)  Factors’ prices ‘ \

%ﬁwﬁﬁﬁmﬁamm@m-ﬁqﬁrﬁmﬁﬁm-mi?

(8) awdh wife (B) It Y a1y
© v @ .
8. What is the rclationship between output and facfors of production
called ? | | | ‘ '.
(A)  Utility function (B)  Cost function

(C)  Production function (D)  Revenue function
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I, 3N Il F wuAl ¥ e F gay B T HE e 2
(A) IR wew  (B) <T@ %eH

(C) SR B | : tD) M Fe
9. Which of the following is an example of fixed cost ?
(A) Cost of raw materials
(B) Room rent
(C) Per unit électr.icity bill

(D) Commission
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ﬁm%f@aﬁ@ﬁiammwwwﬁﬂq-m%?
(A) w2 9 i |

B) WM &

(€) Hﬁtméﬁar—hﬁai

(D) wiftym

10. What type of production function do returns to scale explain ?
(A)  Short run production function
(B) Long run production function

(C) Both (A) and (B)

(D)  None of these:

.. 3
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R % e B e % rrga wem ) s 2 7
(A)  ICTHETIN IR Fem

B) 'ﬁ”fd'ﬂ?ﬁﬁﬂmw

€ (A) 3R (B) 3

(D) ¥ 8 %8 3

11. Total output of a variable factor is maximum when

(A)  Average product is maximum
(B) Average product increases

(C) Marginal product is maximum

(D) Marginal product is zcro
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TR A 1 e 37 Srfrm B 2 o

(A)  3Na Ig arfray B 2

(B)

3ea Iarg wgar @

(C) Fﬂm‘a:mraa:mam‘am%

(D)

12.

(A)

(C)

Monopcly

Monopsony

a3y e 2

In which type of market are homogenous products produccd ?

(B)  Perfect competition

(D) Oligopoly

mm%mﬁmmaﬁmmtﬁm%?

(A)

(C)

THIUFR

TS ShalftehR

(B)  qui wfeafira

(D) YR
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13.  Which curve is a supply curve for a perfectly competitive firm ?

(A) Avcrage cost curve

(B)  Average revenue curve

(C) Marginal revenue cu rve

(D)  Increasing pax.-t of marginal cost curve
E@Hﬁﬁ’ﬁwﬁ%ﬁ'aﬁq-mwﬁwﬁm% ?,_
(A)  Nud ArE T

(B) 3 3wm I%

(C) Hiuma 3w 3%

(D) HiH AFTA a5k <1 Tgal WM
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14,

135.

A) FHRARL B) 3y a2

-7 2

Due to increase in dcmand for a good, the price of the good
(A)  decrecascs

(B) increases

(C)  remains unchanged |

(D) either increases or decreases

Frelt g 1 i 7t @ g B e

(C) r§ uftad =& B (D) %t w gy B wet
In equilibrium price situation

(A) there is an excess demand

(B) there is an excess supply

(C) demand and supply are equal

(D) there is deficient demand
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e o B R i |
W sRwadat g A e e 2
© n’msﬂtﬁw@?ﬁ% (D) = wh 8 R
16. What does the word ‘Macro’ in Macroeconomics mean ?
(A) Large _ (B) -sman
(C} Parallel | (D) Allof these
aufe m q wufy w=g * am e B ? |
) =g . (B) B

©(C) | | (D) FHawh
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17. In the situation of inflation

(A)  Prices of goods decrease

B)

Prices of goods increase

(C)  Value of money increases

(D) Production decreases

TR <6 fRufy 3

(A) gt Y it § FR ot 2
(B) g3l H el § gfy B 2
©) gmwmﬁiaﬁm%

(D) I & wt gt R
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18.

19.
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When was the book The General Theory of Employment, Interest

and Money’ published ?
(A) 1936 AD

(C) 1947 AD

(B)

(D)

1776 AD

1929 AD

?W@ﬂmm,mgw'mwwmm

gAT U ?
(A) 19364, .(B) 1776%.
€ 1947 3. (D) 1929%.
What is wage ?
(A) . Price of -a 1abourcr - ‘{B)l Price of per unil& of l.abour
(C) Pri.cc: of capi@ (D)  Price of landlord
B 12/9763 19 /_36
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Rorghl 7 & p
A) T uftrs 6 g
(C)  gft it Hmg

20. Final goods are

XA-ECD-IOPT-I*A

(B)  ufa 31§ om &t Fg

(D)

PRy 6t F

(A) Durable consumer goods

(B) Non-durable coﬁsumcr goods
(C) Capital goods

(D) Al of these |

3ifon wegd dh €

(A) fewTs SmireT T

Ysfima g

(©)

-(B] Ir-fewrs Imirer T

@ IR
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Which of the following activitics is an aclivily of tertiary scctor ?

(A)  To produce wheat (B)

(C)  To sell flour in market (D) None of these

et & & gt & 61 s R e 4 2

&) W Iy | " (B) ﬁﬁ\émﬂmm
© _em%a%amﬁﬁam (D) 349 A = 9
Which is not included in inventory ?

(A) Finished goods sold (B) Raw materials

(C) Semi-finished goods (D) Unsold finished goods

To prepare flour from wheat
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wie-y § wn gl v da d p
C(A)  fafea ffifa =g (B) %= U
(C) ndfaffa g (DL~ Ffafsra fafifa ag

23. Whatis the differencg between GNP and GDP called ?

(A)  Depreciation
(B) Undistributed profit
(C)  Net factor income from abroad

(D)  Net indirect tax

N 12/9763
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GNP T GDP 1 aim 71 21 2
CHIR QG |
B) fvafa @M

| (C) Taewli } v e @itk ama

D) Te swew w

' 24, Which of the following is a characteristic of money ?

(A)  Money is perishable good
(B)

Accumulation cost of money is high

(C) Money is universally accepted

(D)  All of these

Preffien # 3 w1 6 T i S 2 2
A 0 e g R

(B) W 6 T TR I B 2

(C) TR wrhitfue ¥q 4 @i

@ AW
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25.  Which of the following banks is the central bank of India, ?

(A)  Central Bank ofIndia (B) State Bank of Indija

(C)  Bank of Indja (D)  Reserve Bank of India

%ﬁﬁﬁmw%ﬂﬂ%ﬁmm%?

(A) a5 a1 (B) e &% 3% ifeq

(© # e i D) o &5 i e
26.

The value of which of the following variables js between 0 and 1 ?

(A) Marginal pPropensity to consume

(B}  Multiplier

(C)  Average propensity to consume

(D)  All of these

W 12/9763
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ﬁnﬁ@'%‘*“‘ﬂﬂmoaﬁt 1 f g ?

UL IE L h O p—

(C) W‘ﬂnﬁaﬁmnqﬁ{ D) AP

at will be the value of multiplier, if Marginal Propensity to

Consume (MPC) of an economy is 06 ?

(A) 06 B) 04

(C) 25 (D) 1"7

afe forelt anteraen # smim A divia w9t (MPC) 06 R A T w1 AR

w1 g ?
(A) 06 (B) 04
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28.

29.

=

The period of financial year in India is

(A)  1st January to 31st December

B) 1st July to 30th June
(C) " 1st April to 315t March

(D) 1st February to 315t January

Wﬁﬁ?ﬁﬂa‘fﬁaﬁﬁ@?ﬁ%

A 17 Az e 1 g @ 30 5

(C) 1:@3@31111# (D) Imﬁﬁmaﬁﬂ
Which of the following is an example of capital expenditure. ?
(A) Expenditure on salary of govcr:nmeﬁt employee

(B) Defence expenditure

(C) Expenditure on land acquisition

tD] All of these
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Pt 3 Yofina =1 1 T EET 8
(A)  EEh FHEH ¥ I W G

B) e =3

© i ftue w =3

(D) sﬁ R

In the situation of money devaluation

(A) thevalue of domestic money increases
(B) cxchz;ngc rate decreases

(C) exchange rate increases

(D) none of these

mmﬁ@ﬁﬂ

(A) T TR F I qG T 8 (B) fafima <t | s R

() pRmmdsadt () A W
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( Subjective Type Questions )
( Rreafag w7 )
Section - A
s - A

( Very short answer type questions )

(s ergwha ve )

Answer any six questions, 2x6=12

fordl ©: gwal & I 2

31. What is mixed economy ? Give an example of mixed economy.

fafya arefogaeen ford e o1 2 7 i areferaeen &1 & seew A
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32. What i-_?- called indifference curve ? Show in diagram.
ST w5 R s e 2 » Y @ etz

33. What is Average Cost ? The cost of production of 10 units of a good
is Rs. 60, then what will be its average cost ?
mmw%?uﬁmmaﬁ 10 378 IS <l AT 60 92 & @
T 3ited oTe = a7

34.

What will happen when supply increases ahd demand remains,

unchanged in a market ?
ﬁ@?ﬂmmﬁ%&ﬁmaﬁnﬁmﬂaﬁﬁwqﬁﬁﬁ@/’?f
35. What do you mean by transfer income ?
AT 3G / 3 1 F7Q 8 ?
36. If the cash reserve ratio is 20% then calculate money multiplier.

R e, A I 20% @ A T o 1AM T AR
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37.  Write the components of a government budget.

mﬂm%aﬂ%mml

38. What is foreign exchange rate ?

ﬁ%sﬂf%ﬁwztm%?

Secfion - B

@ug - B

( Short answer type questions )

(vg Inda vy )

38

Answer any six questions. Answer the questions in maximum

15b words each.

3x6=18

5l ©: Tl & I &) YdF T B I Hfwan 150 v | 3|

39. How can foreign currency be obtained in India ? Explain.

W el T i it 42 9wl 2 » e B

®12/9763
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42,

- 43.

increase in the demand for the good in a market.

mamm%mﬁmmﬁmmammﬁm
q¢ Tt 8 |
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44.  Calculate the elasticity of supply from the following data :
Pt et @ off 9 s ra i

; 0 ] ——-..\
BT (Price) 5 10

' oy
T (Supply) 15 45

—

45.  Define Average Product. How is it related to Marginal Product ?

mWﬁmwlﬁ%mﬁmmdﬁhﬁ%?

46. When is the demand for a good called (a) perfectly inelastic,

(b) unitary elastic, and (c) elastic ?

%%ﬁazg'ﬁqﬁrﬁﬁqaythm%?ﬁam, (b) ¥ IR, 7T (c) R

HEl AT R P

m12/9763

32 / 36



;J AC

CO
XA-ECO-(OPT.)-A e

Section-C
g g - C

( Long answer tyﬁe questions )
(vl uwm ) |

Answer any four questions. Answer the questions in maximum

250 words each. | S5x4=20

wwmﬁ%mﬁlmmmmmzsomﬂﬁ‘ﬁl

47. Explain the law of demand. Why is the law of demand applied ?

3+2

ain % fram & samen fifvw win w1 fam wi a dmd
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JAC

48.

average cost schedule,
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fixed cost schedule from thc table :

Following table is the total cost schedule for a producer

P/

. Cons[n

average variable cost schedule and aver,

Output | 0 | 1 | 2 [ 3 [ 4[5 64 2
. o ——
1:;"8? S0 | 70 | 85 | 95 | 100 | 110 | 135 | 140 160

e —

ﬁnﬁmmmmm@m@ammwma

Hmm%aﬂwama,sﬂaaw&a?ﬁmaﬁtaﬂmf&nmlﬁﬂﬁﬁq

N 0 1 2 3 4 5 6 7 8
1w .

S 50 | 70 | 85 95 1100 [ 110 | 125 | 140 | 160
T : *

49. Explain the short

perfect competition market,

run and long run supply curve of a firm in

@mmﬁwwﬁmmﬁqaﬂtﬂmmﬁwﬁ
= it

R 12/9763
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50. What do you mecan by inventory ? Distinguish between planned
accqmulation in inventorics ang unplanned decumulation in
inventorics ?
m—@ﬁmwmﬁé?ﬁﬁmm-@ﬁmmaﬁﬁm
AT -HE AT § 3w Hifong

S1. How does the central bank control credit ? Exphain.
| ﬁaﬁammﬁﬁm%&m% ? =TEn iR

52. What

will be the effect of following changes in eql/l‘jl'tbrium in an
A

economy ? Illustrate with diagram :

a)  When Marginal Propensity to Consume (MPC) increases

b) When autonomous consumption decreases.
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afsreen ¥ wgem w Aeffen ufaddl & wn mma @m ? fEhE 3 e
Hifem

a) & I™M H dwm wf (Mpe) F gfg @

b)) wEE I d R
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